



anaïs & co

# **Structured French Tuition**





## Thank you

Dear reader

On behalf of the entire team, I would like to personally thank you for your interest in our services. It truly means a lot to us.

Our mission is simple: to offer what we believe are some of the finest solutions available for learning French. It may sound ambitious, but it is genuinely what guides every decision we make structure, quality and beauty.

We have created this brochure to give you a clear overview of our private lessons and group classes, as well as the approach that defines us.

We hope to have the privilege of supporting you. Whatever your final decision may be, we wish you the very best in this wonderful adventure of learning a new language.

Warm regards  
Anais



## The structured approach

All our services are grounded in the unique method we have developed over the past ten years. Designed to be logical, intuitive, and highly effective, it blends conversation, vocabulary, grammar and a sense of enjoyment, all taught in your native language until your understanding of French is strong enough to transition naturally.

This method is presented in a series of carefully structured books, which we use across all our lessons, programmes, and group classes.



## The trained tutors

We have recruited and trained a team of exceptional French teachers. Each tutor follows the same structured method while bringing their own personality, style, and accent. All our tutors are native French speakers who speak English — and often one or more additional languages.

Because we work with a large team, you can choose the tutor who suits you best. We are proud to offer a unique experience in which you can change tutors as often as you wish — even every lesson — while still following the same coherent and consistent approach.

## Private lessons // Monthly subscription

			# of lessons per month	Hourly rate	Monthly payment
Online	Senior tutors	Once a week	Up to 5 lessons	£40	£200
		Twice a week	Up to 10 lessons	£35	£350
	Expert tutors	Once a week	Up to 5 lessons	£60	£300
		Twice a week	Up to 10 lessons	£55	£550
<hr/>					
London	Expert tutors	Once a week	Up to 5 lessons	£80	£400
		Twice a week	Up to 10 lessons	£75	£750

### Tutors

All our tutors are experienced French natives who speak English and very often one (sometimes more) other language(s). They are all recruited and trained to our methodology and procedures.

### Monthly payment

We charge your card once a month.  
The balance refreshes automatically every month.  
You can pause or cancel your subscription at anytime.

### London lessons

We travel to your office, your house or a public space in the following postcodes: EC1, EC2, EC3, EC4, NW1, NW3, NW8, SW1, SW3, SW5, SW6, SW7, SW10, SW11, W1, W2, W8, W11, WC1, WC2.

## Private lessons // Blocks of hours

		Senior tutors		Expert tutors		Anais	
	Number of hours	Hourly rate	Price	Hourly rate	Price	Hourly rate	Price
Online	12	£45	£540	£65	£780	£100	£1,200
	24	£40	£960	£60	£1,440	£95	£2,280
	48	£35	£1,680	£55	£2,640	£90	£4,320
London	12			£85	£1,020	£125	£1,500

### Tutors

All our tutors are experienced French natives who speak English and very often one (sometimes more) other language(s). They are all recruited and trained to our methodology and procedures.

### Payments

The payment should be made in full before starting. You can pay by bank transfer, debit card, credit card, American Express.

### London lessons

We can travel to your office, your house or a public space in the following postcodes: EC1, EC2, EC3, EC4, NW1, NW3, NW8, SW1, SW3, SW5, SW6, SW7, SW10, SW11, W1, W2, W8, W11, WC1, WC2.

## Online group classes

Online classes taught by Anais						
	Start date	Days	Teacher	Time	Duration	Price
<b>Beginners 1</b>	<a href="#">See website</a>	Thursdays	Anais	6:30 pm (London)	12 x 2 hours	£400
<b>Beginners 2</b>	<a href="#">See website</a>	Wednesdays	Anais	6:30 pm (London)	12 x 2 hours	£400
<b>Beginners 3</b>	<a href="#">See website</a>	Tuesdays	Anais	6:30 pm (London)	12 x 2 hours	£400
<b>Intermediate 1</b>	<a href="#">See website</a>	Mondays	Anais	6:30 pm (London)	12 x 2 hours	£400
<b>Book</b>		INCLUDED				

**anaïs & co**